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Analysis and Application of Uncertainty in canal discharge measurements

ZHANG Li-hua, LV Hong-xing
(College of Water Resources and Architectural Engineering, Northwest A &. F University, Yangling 712100, Shanxi Province, China)

Abstract; The cross-section flow measurement with current meter is the common method in canal discharge measurements. Because
the precision of measurement is influenced by several factors, the measurement results may deviate from true value. The reliability
must be pointed while the results of the measurement are given. The former error evaluations have the problem of true value and uni-
fied method. In this case, the concept, evaluation and representation of measurement uncertainty appear. It is a new advance in the
field of measurement. The paper introduces the application and practical significance of uncertainty theory in canal discharge meas-
urements through the example of uncertainty evaluation in canal discharge measurements.
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